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QUESTION 1
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An administrator is testing connectivity between two ESXi hosts and uses the ping utility, as shown in the

Exhibit.

Based on the results shown in the exhibit, which statement is correct?
A. Communication between the hosts is working correctly.

B. The hosts are in separate subnets.

C. The MTU size is too small.

D. A logical router has not been deployed and configured.

Correct Answer: C

QUESTION 2

Which Virtual Machine cannot be protected by the Distributed Firewall?
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A. A Virtual Machine connected to a vDS Portgroup running on an ESXi 5.1 host.
B. A Virtual Machine connected to a vSS Portgroup running on an ESXi 5.5 host.
C. A Virtual Machine connected to a vDS Portgroup running on an ESXi 5.5 host.
D. A Virtual Machine connected to a logical switch running on an ESXi 5.1 host.

Correct Answer: D

QUESTION 3

Which VMware NSX for vSphere component can be created on-demand using vRealize Automation?
A. The logical switch

B. The logical distributed router

C. The distributed firewall

D. The NSX Edge Services Gateway

Correct Answer: A

QUESTION 4

A vSphere administrator deploys the NSX Edge Load Balancer in Inline mode. Which is not a requirement for the Load
Balancer to operate correctly?

A. Perform Source NAT on the traffic from the clients.

B. Connect the Load Balancer directly to the same subnet as the VMs that are part of the Server Pool.
C. Perform Destination NAT on the traffic from the clients.

D. Point the virtual machines in the Server Pool to the Load Balancer as their default gateway.

Correct Answer: A

QUESTION 5

Which tool is used to display VXLAN connection information?
A. pktcap-uw

B. NSX Controller CLI

C. esxtop

D. VDS Health Check
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Correct Answer: B
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